Ubungsblatt Ableitung der In-Funktion

() =1n(2) kann man ab- 3 Bilden Sie die 1. Ableitung.
leiten na{‘hlf{’rKeﬁenregef: a) T =1 + In (x) b) f(x) =x + l_ﬂ (x) ¢) f(x)= 27{ + In2x) d) f(X) = X2 +In(tx)
= 33? 4 wfm=hx) bW=h0+3d of=n(-x) & F)=3(V4x)
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F(x) = In(3) - In(x); also
fF(x)=-1 5  Bilden Sie dic 1. und 2. Ableitung. | _—
a) £(6) = In(th) b) £() = (In(0))* 0) f(u):ln( ] d) l‘(t)zkﬁln(\-‘ZtJ
e) f()=(nGs-a) 0 fw=xInx)  9fK=r5 h) £(0) = -5
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W [(x)=1+Inx); f'(x)= b) f(x) = x +In(x); f'(x)=1 +%
¢) [(x)=2x+In@2x); (x) =2+~ d) £(x) = 2 + In(1x); (0 = 2x + |
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(x) ——-—
p) () = ln(“;‘), £ (t)=T

) (X "‘]nl_

4

) 1 ln[\x)——ln(x) l(x)—i b) f(x)=1In(l +3x%); f'(x) =

¢) 1) = In(1 —x?); f'(x) =25 = 25

d) (x) = 3-In(Vdx | = ?'1“(2\"‘;) f'(x) = 214{'23,( - %
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f) f(x) = In(sin(x)); f'(x)= %8 g) £ =i daca); o= reos(nd)
b F(x) = An )™ 100 =100 | =~
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